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Multiplication Word Search

Find the answers to the math problems below and find 
and mark all the answers in the word search box.

2  ×  3  = 

1  ×  2  = 

6  ×  2  = 

2  ×  7  = 

10  ×  2  = 

4  ×  2  = 

2  ×  2  = 

2  ×  8  = 

9  ×  2  = 

5  ×  2  = 

F O U R T O O V F E G T R

F E N I I N E R T T T I O

N U T T W X I X T I O X H

U E U N E I I H T T F T I

O F I X F S T E T W O G T

S N E U G N I Y W E U W N

E T T T Y I T X I L R E Y

T N R G I N N N T V T T X

L N O T E I G H T E E N O

H E E W W E G U Y E E O U

S E T Y R I O E E T N N T

T G N I E T G G I X X U F

E R T E S E W S N R T E U



Answers
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Find the answers to the math problems below and find 
and mark all the answers in the word search box.

2  ×  3  = 6

1  ×  2  = 2

6  ×  2  = 12

2  ×  7  = 14

10  ×  2  = 20

4  ×  2  = 8

2  ×  2  = 4

2  ×  8  = 16

9  ×  2  = 18

5  ×  2  = 10

F O U R T O O V F E G T R

F E N I I N E R T T T I O

N U T T W X I X T I O X H

U E U N E I I H T T F T I

O F I X F S T E T W O G T

S N E U G N I Y W E U W N

E T T T Y I T X I L R E Y

T N R G I N N N T V T T X

L N O T E I G H T E E N O

H E E W W E G U Y E E O U

S E T Y R I O E E T N N T

T G N I E T G G I X X U F

E R T E S E W S N R T E U


